Quiz 18

April 14, 2017

Show all work and circle your final answer.

1. (4 points) Write parametric equations in terms of ¢ representing
the curve y = 22 — 7 from —1 < z < 2 (include bounds on t).
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2. (4 points) Write parametric equations for a circle centered at
(1, —3) with radius 2 (include bounds on #).
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3. (4 points) Find the equation of the tangent line to the curve e
z=22 y=+t+tatt=A4.
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4. (4 points) Write an integral representing the total distance trav-
eled by a particle whose position is given by z = 3sint, y =
4arctant for 0 < ¢t < 1. Do not evaluate the integral.
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5. (4 points) The arclength of a curve C' defined by parametric equa-
tions z = f(t) and y = g(t) , a < t < b, is NOT always equal
to the distance traveled by a particle with position (f(t), g(t))
between t = @ and t = b. Give an example of when this is not
true. (You may draw a picture, explain in words, give a specific
function, etc.)

!:'—:'L?’.h‘ﬁh ’ 04} 44w ( I dis cose, tWw Par’dc,l.ﬁ. avel\s
il /'T“\t__o Pe v e wiwen €0
E-% e and t=47, so ‘e dotad Adistance
# hoveled is fwice Saz avcomference
e (el of e civcle.




